Math 60, Sections 4.3 and 4.4 Group Activity = Name:

Section 4.3 Rates of Change

Modeling Data with Two Variables

1. Use the data in Table 1 and Figure 2 that shows incidents of invasive cancer reported in Oregon from
1999 to 2013 to answer each question.
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a. State the data values for the years 1999 and 2000. What was the(rﬂgﬂ@ge_ﬂ‘gn that year?
- <@ g P == ‘Q&(‘--’ c “,\ - . ) 4
C179 1) 17549 f> (L@DU/ \ )L{L'“w)

B 3% f faunat L’*‘J(L;) = _ 1S3 cancer madents

17 %uw .

= =IS% Mc(o‘@vv\fsw

b. State the data values for the years 1999 and 2009. What was the rate of change during that time?
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Patterns in Tables

2. ldentify the pattern in each table below. In other words how could y be calculated given x ? Write an

equation in the form y =.... Then find the rate of change if it is constant.
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Section 4.4 Slope

3. Find the slope of each line using its graph.
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4. Find the slope of each line again, using the formula.
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5. Find the slope of each line using its graph.
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6. Find the slope of each line again. Write the down the coordinates and use the slope formula.
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More Practice
7. Find the slope of each line using its graph.

a. b.

8. Without graphing, find the slope of the line between each pair of points.
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9. Identify two points on each line and find the slope.
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10. Without graphing, find the slope of the line between each pair of points.

a. (2,1) and (3,4) b. (3,1) and (~1,1)
m= H-1| m= 11—
3 =]i=y
= B o= O

r * Y
=23 =0 (hoﬁ%@/lw
\W\QB

c. (6,~4) and (4,-2) d. (—4,5) and (—4,3)
m = -2={=4) m= 3-5
Yomls “"1‘“{“{5
] 2 - _:___2_“___
= | )
- e I = U mlwpwut
(verbe

Cara Lee Page 6



